
Β ΛΥΚΕΙΟΥ ΑΛΓΕΒΡΑ 
 

16.10    1) 

α)   

π
3 π π 2κπ 62συν4x 3 συν4x συν4x συν 4x 2κπ x

2 6 6 4 4
             

κπ π
x

2 24
      , κ Ζ   

β)   
π π 3 π π

2ημ 2x 3 ημ 2x ημ 2x ημ
3 3 2 3 3

     
             

     
 

π π
2x 2κπ

3 3
                 ή   

π π
2x 2κπ π

3 3
      

 

 

 

 

 

 

 

 

16.10    2) 

 

1 2
4x 4x 4x 2 x x ,

2 3 3 4 12 2 12

     
                

 

16.10    3) 

3x 1 3x 3x x ,
4 4 3 12

   
             

16.10    4) 

1
x x x

4 2 4 6 4 6

           
                    

       
 

x 2
4 6

5
x 2 ,

12

 
    


   

        ή      

x 2
4 6

11
x 2 ,

12

 
     


   

 

16.10    5) 

2 2
3 3x 1 3x

3 3 4

     
            
   

 

2 2
3x 3x

3 4 3 4

      
             

   
 

2 2
3x x

4 3 3 12 9

    
         

11
x ,

3 36

 
     

 

 

 

 

 

 

 

 

 

 

π
2x 2κπ π

3
   

π

3
 2x 2κπ π      

 
2


x

2

2


κπ

2

π π
x κπ

2 2
        , κ Ζ   

 

   

 

 

 

 

 

π π 2π
2x 2κπ 2x 2κπ

3 3 3
         

2


x

2

2


κπ

2

2



π

3

2

π
x κπ

3
      , κ Ζ    

 

   

 

 

 

 

 



3x 2
2 2

3x 2

2
x

3

 
  

  


 

 

  
 

3x 2
2 2

3x 2

2
x

3 3

 
  

    

  
  

  
 

ή 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

2
3x 2

4 3

2
3x 2

3 4

5
3x 2

12

2 5
x

3 12

 
  

 
   


  

 
  

 

  
 

2
3x 2

4 3

2
3x 2

3 4

11
3x 2

12

2 11
x

3 36

 
  

 
   


  

 
  

 

  
 

ή 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

16.10    6) 

3x 0 3x 3x 2
2 2 2 2 2

       
              

   
 

 

 

 

 

 

 

 

                          

Συνδυάζοντας τις λύσεις αυτές παίρνουμε   x ,
3


   

 

 

 

16.10    7) 

1
2 3x 1 3x 3x

4 4 2 4 3

        
                 

     
 

2 2
3x 3x 2

4 3 4 3

      
           

   
 

 

 

 

 

 

 

 

 

 

 

 

 

 

16.10    8) 

2 2 1 2
3 x 1 x x

3 3 3 63

          
                      

       
 

2 2
x x 2 x 2 ,

3 6 6 3 2

    
             

16.10    9) 

3
3 2x 3 2x 2x

5 5 3 5 6

        
               

     
 

2x 2x
5 3 5 6

   
          

2x x
15 30

 
       

 
 


